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LV—06—2023
FACULTY OF COMMERCE AND MANAGEMENT
M.Com. (First Year) (First Semester) EXAMINATION
NOVEMBER/DECEMBER, 2023
STATISTICAL ANALYSIS FOR BUSINESS

(MC-II)
(Wednesday, 06-12-2023) Time : 10.00 a.m. to 1.00 p.m.
Time—3 Hours Maximum Marks—T75
N.B. .— (i) Attempt all questions.

(i)  Question No. 1 is compulsory.
(iit) All questions carry equal marks.
(fv) Simple calculator is allowed.
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1. The simple correlation coefficient between temperature (X;), corn yield (X,)
and rainfall (X3) are rj9 = 0.59, ri3 = 0.46 and rog = 0.77. 15

Calculate the partial correlation coefficients rqg 3, 793 1, 37 9 and multiple

correlation coefficient Rq 93

aE (X)), ' Sard (X,) 1 St (Xp) e WY "eead T
rip = 0.59, riz = 0.46 ST ryy = 0.77 3TRA.

AT TEHA O 1o g, Iogq ANV rgyy G, T Ry el
P.T.O.
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(2 ) LV—06—2023
If riyg = 055, rig = 0.80 and rgg = 060,

01=7762=8703=10,

then find out : 15
0 by
(iz) bi3s
@) bygy

5K 7‘12 = 0.55; 7‘13 = 0.80 aTlﬁT 7‘23 = 0.60;

TJea1 wE

@ bya3
@) bygy
@) bggy

Or/f&an

In trivariate distribution :

6, =3,09 =4,05 =25

ros = 0.45, r4; = 0.65, ri, = 0.75

Determine the regression equation of X; on X, and Xj.
Tl Ees famoma

G, =3,09 =4, 03 =5

7‘23 = 0.45, 7‘31 = 0.65, 7‘12 = 0.75

X, ¥ X, afor X, =R yfqorHT g el

Two independent sample of 8 and 7 items respectively had the following values

of variables :
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Weight in lbs

Sample A : 09, 11, 13, 11, 15, 09, 12, 14
Sample B : 10, 12, 10, 14, 09, 08, 10
Do the two estimates of population variances differ significantly ? 15
(V, =17, Vy, =6, Fyo5 = 4.21)
8 =7for 7 T SOl S TWAA Al b9 foRUdt YAt Wieiiel HIO STR:
R lbs WA
|9 A : 09, 11, 13, 11, 15, 09, 12, 14
|9 B : 10, 12, 10, 14, 09, 08, 10
forgarem €9 fereroma
faoy ww R wE ?
(Vy =17, Vy, =6, Fy,s = 421)
Orffsar

In a test given to two groups of students, the marks obtained were

as follows :
First Group : 18, 20, 36, 50, 49, 36, 34, 49, 41
Second Group.: 29, 28, 26, 35, 30, 44, 46

Examine the significance of difference between the mean marks obtained by
the students of the above two groups. (At 5% level of significance the value
of tfor 14 degrees of freedom is 2.14).

T Terdie famneaten Aol gREdien o wielial Er sied —
999 e : 18, 20, 36, 50, 49, 36, 34, 49, 41
EU T 29, 28, 26, 35, 30, 44, 46

3
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(14 =@ MR 5% favara dmeer ¢ 3 7ed 2.14 3TR.)

LV—06—2023
o T Terdta faEneait fHesfacean TERt Tudiel ST SeTd AUATSIRT 378 1 O qUTEl.

880 residents of a city who were interviewed during a sample survey are
classified below according to their smoking and tea drinking habits. Calculate

Yule's coefficient of Association of Attributes and comment on it.

T T FAGUMHES TRl veddial 880 Fard=a Jemerd Jvaa ofedl 8 igaR o=t
YHIE & =8l v Hed AER vl hos, Jeral T TV $HET d eR STIel

sty =
Smokers Non-smokers Total

(I FOMR) | (HUE T FIOMW) TR
Tea Drinker 400 330 730
(=1 fom)
Non-Tea Drinkers 30 120 150
(=@ A foom)
Total 430 450 880
(T=poT)

Or/ferar

Out of 200 persons who were not given medicine, 65 were paralysed and out

of 300 persons who were given medicine, 75 were paralysed. Was the medicine

effective ?

Paralysed Non-paralysed Total
Medicine given 65 135 200
Medicine not given 75 225 300
140 360 500
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ST sioe feell At eTem 200 SHeiUehl, 65 oHekil faehenT oTeEl. qR= SAAT Sfiwel

fer s19m 300 =Kkt 75 oHekl foeher T AT

AN guEl A wE ?

faemeti 1-faemenia TRUT
sftoelt foelt 65 135 200
sftoelt foelt e 75 225 300
ThUT 140 360 500
5. Attempt any two of the following : 15

WeAedeh! Vel g |ieal

(@) Advantages and limitations of multiple correlation.
Igfay TeEEE™ U 9 AT

(b) Use of multiple regression analysis

sgfay Ffqemes  fogersoman 39=rT

(c) Use and application of Chi-square test

FE-TRHT (X2) F=Eoi=r 9 9 STASH
(d) Association of Attributes.

ToTEE Eee.

LV—06—2023 5

AB64AT707A6CT766AAS52C1EA101ADDC204C



